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dibxp` xeniy :3 libxz

.x− y xeyina F = (x3 + xy2, y3 + yx2) dcya rp seb .1

qwehq htyna eynzyd :fnx) xnyn dcyd ik egiked (`)
(
∮
F · dr =

∫ ∫
∇× F · ds

U(x, y) l`ivphetd z` e`vn (a)

-y`xdn sebd z` xiardl dyexcd dceard z` zyxetn dxeva eayg (b)
-pd mr ziy`xd z` dligz xagnd lelqn jxe`l (2, 1) dcewpl zi
dcewpd mr (2, 0) dcewpd z` okn xg`le x xiv jxe`l (2, 0) dcew

y xiv jxe`l (2, 1)

l`ivpheta yeny i"r b1 sirqn aeyigd lr exfg (c)

? ifkxn gkd m`d .zixlet mixiv zkxrna gkd z` eazk (d)

zief efi`a .dgepnn drepza ligzn jekig xqg xeck iab lr `vnpd wiwlg .2
y`xa wiwlgd ly dgepnd zcewp mr ziy`xd z` xagnd z xivl qgia)

? xeckd z` wiwlgd aefri (xeckd

zlhehnd .edvwa dielzdm dqne ` jxe`a hegn zakxen zihnzn zlhehn .3
.lwynd ieey zcewpa hegl qgia θ ziefa dhep

zlhehnd ly (zil`ivphet+zihpiw) zillkd dibxp`d z` enyx (`)

jezn θ̈ + g
`
θ = 0 zephw zecepz aexwa drepzd z`eeyn z` elaw (a)

(ipenxd xehlivqe` ly dibxp`l ieha elaw :fnx) dibxp`d xeniy

y = divwpetd i"r oezp y ddaeb xy` jekig zxqg dliqn lr wilgn fexg .4
dcewpa xaer fexgde zikp` dliqnd (x, y) = (0, 0) dcewpa ik reci .f(x)
ikp`d oeeka zexidndy zpn lr ik e`xd .(dhn) −V zikp` zexidn mr ef

y = f(x) = − (3gV x)2/3
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